GMAT Geometry Practice Paper 5

Question 1

Mot=: Fipure MOT dravn to scabe. Do nof sssume ines are perallel ar perperdiculsr simphy by sppeasrance.

Evaluate m.1.
Stst=mant 1: m 4 = gg°

Stat=mant 2: msE = gR°

Paszible Answers:

EITHER statement ALOMNE is sufficient o answer the guestion.

Statement 2 ALOMNE is sufficient to snswer the question, but Statement 1ALDOME is NOT sufficiant o snswer the question,

Statement 1 ALOKE is sufficient to snseer the question, but Statement 2 ALONE is MOT sufficient 1o snseser the question.

BOTH statemenis TOGETHER are suffici=nt ta answeer the guestion, but MEITHER statement ALCME 5 sufficient to answer the guestion.

BOTH statements TOGETHER sre nsufficient to sreveer the question.

Question 2



Mote=: Figure MOT drawn ta scale.

Refer to the above diagram. Evaluate y.
Statementlxr +w= T4

Stmtem=nt 2 z+ y+ © + v = 254
Passibls Answers:

Statement 1 ALOME is sufficient to snswer the question, but Statement 2 ALDMNE is MOT sufficiant 2o snswer the queastion,
EITHER statemeant ALOME iz sufficient to anseser the gusstion.

BCOTH statements TOGETHER are msufficient to answer the guestion.

Statement 2 ALOBE is sufficient $o snswer the question, but Statement 1ALOME i= NOT sufficiant 2o snswer the question.

BOTH statements TOGETHER are sufficient to ansaer the guestion, but MEITHER statemsnt ALOME i suffici=nt to answer the pusstion

Question 3



Mote: Fipure MOT drawn to scabs,

Rafer to the above diagram. Evalusts =
Statement Lzt y=wtw

Statement2: z = I

Paoszible Snowers

EITHER stabement ALONE is sufficient o answeer the guestion

Statement 1 ALOME iz sufficient o snswer the question, but Statement 2 ALOME is MOT suffici ant o snseser the question.

BOTH statemenis TOGETHER are sufficisnt to answer the guestion, but MEITHER statement ALONE & sufficient to answer the pusstion
BOTH stateme=nis TOGETHER are msufficient to amsveer the question.

Statement 2 ALUOME iz sufficient to snswer the question, but Statement 1 ALONE is MOT sufficiant 1o anseeer the question,

Question 4



Mote: Fipure MOT drawn to scele. Do not assume [ines are parallel or perpendsoular simplhy by sppearance.

Evaluate m./1.
Statement 1: I |m

Statement2: ¢ L m

Paszible Answers:

BOTH statemenis TOGETHER are suffici=nt ta answeer the guestion, but MEITHER statemeant ALOME i sufficiant to answer the guestion
EITHER statement ALONE is sufficient to answer the guestion

BCOTH statemenis TOGETHER are msufficient to answer the question.

Statement 2 ALOMNE is sufficient to snswer the question, but Statement 1 ALOME is MOT sufficiant $o snseser the quesstion.

Statement 1 ALOMNE is sufficient to snewer the question, but Statement 2 ALONE is MOT sufficiant 5o snsessr the question.

Question 5



s

Mot Figure HOT dravn to scabs,

Give the messure of S M D in the above diagram.
Statement 1: A_H|: anarc of measure 307
Statement 2: on is 3n arz of messure 447

Paszibls Answers

Statemnent 1 ALOME is sufficient to snswer the quastion, but Statement 2 ALOME is MOT sufficient fo snswear the quastion.
BCOTH statements TOGETHER are insufficient to 2 newer the guestion.

Statement 2 ALONE is sufficient to answer the question, but Statement 1 ALONE is NOT sufficient to snseser the guestion.
EIMHER statemant ALOME iz sufficient ta anseser the gusstion.

BOTH statements TOGETHER are sufficient to answer the guestion, but MEITHER statemsnt ALONE & suffic=nt to answer the puestion

Question 6



Find the length of the diagonal of square G.
I The area of G is 169 fathoms squared.
Il) The side length of Gis 13 fathoms.

Possible Answers:

Statement 2 is sufficient to salve the question, but statement 1is not sufficient to solve the question.
Each statement alone is enough to solve the question.

Both statements taken together are sufficient to solve the problem.

Statement 1 is sufficient to solve the question, but statement 2 is not sufficient to solve the guestion.

Meither statement is sufficient to solve the guestion. More information is needed.

Question 7



The circle with center F isinscribed in square 4 BC D). What is the length of diagonal AC?
(1) The area of the circle is 16ar.

{2) The side of the square is 8.

Possible Answers:

Statement 2 alone is sufficient.

Both statements together are sufficient.
Each statement alone is sufficient.
Statement 1 alone is sufficient.

Statements 1 and 2 together are not sufficient

Question 8



Onvyour college campus there is a square grassy area where people like to hangout and enjoy the sun. While walking with some friends,
you decide to take the shortest distance to the corner of the square opposite from where you are. Find the distance you traveled.

I} The perimeter of the square is 60 meters,

Il) The square covers an area of 225 square meters.

Possible Answers:

Both statements are needed to answer the question.

Statement II is sufficient to answer the question, but statement I is not sufficient to answer the question.
Either statement is sufficient to answer the guestion,

Meither statement is sufficient to answer the question. More information is needed.

Statement I is sufficient to answer the question, but statement II is not sufficient to answer the question.

Question 9

Find the length of the diagonal of square A if the diagonal of square B is 84/ 2in.

1. The perimeter of square B is 32in
2. The area of square A is 16in

Possible Answers:

Statement 2 alone is sufficient, but statement 1 alone is not sufficient to answer the question.
Each statement alone is sufficient to answer the question.

Statements 1 and 2 are not suffident, and additional datais needed to answer the question.
Statement 1 alone is sufficient, but statement 2 alone is not sufficient to answer the question.

Both statements taken together are sufficient to answer the question, but neither statement alone is suffident.

Question 10



What is the length of the diagonal of the square?

1. The area of the square is fdem’.
2. The perimeter is 32cm.

Possible Answers:

Both statements taken together are sufficient to answer the guestion, but neither statement alone is sufficient.
Statement 2 alone is sufficient, but statement 1 alone is not sufficient to answer the question.

Each statement alone is sufficient to answer the question.

Statements 1 and 2 are not suffident, and additional datais needed to answer the question.

Statement 1 alone is sufficient, but statement 2 alone is not sufficient to answer the question.

Question 11

The diagonal bracing of a square pallet measures (i 1, What is the area of the pallet?

Possible Answers:

¥ m?

)

21 m*
|
W2 m

18 m?

Question 12



Iz Rectangle RECT asquare?

Possible Answers:

Statement 1 ALONE is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but MEITHER statement ALOME is sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Question 13

Find the side length of square R.
I) The area of square R is 225yd°,

I1) The perimeter of square R is G0pd.

Possible Answers:

Statement 1 is sufficient to solve the question, but statement 2 is not sufficient to solve the gquestion.
Meither statement is sufficient to solve the guestion. More information is needed.

Statement 2 is sufficient to solve the question, but statement 1 is not sufficient to solve the question.
Both statements taken together are sufficient to sohve the guestion.

Each statement zlone is encugh to solve the question.

Question 14



(1) BE — /2
(2) #EBC — 457

Possible Answers:

Statements 1 and 2 together are not sufficient
Statement 1 alone is sufficient

Both statements together are sufficient
Statement 2 slone is sufficient

Each statement alone is sufficient

Question 15



Find the area of square T T F.
1) T F has adiagonal of 542 inches.

) TG TF has a perimeter of 200inches.

Possible Answers:

Statement | is sufficient to answer the question, but Statement 11 is not sufficient to answer the question.
Baoth statements together are needed to answer the question.

Either statement alone is sufficient to answer the question.

Statement |l is sufficient to answer the question, but Statement | is not sufficient to answer the question.

Meither statement is sufficient to answer the question. Mare infarmation is needed.

Question 16

Calculate the length of the square.
Statement 1): The area is 1.

Statement 2): The diagonal is 1.

Possible Answers:

Statement 1) ALOME is sufficient, but Statement 2) ALOME is not sufficient to answer the question.

Statement 2) ALOME is sufficient, but Statement 1) ALOME is not sufficient to answer the question.

BOTH statements taken TOGETHER are sufficient to answer the guestion, but neither statement ALOME is sufficient.
EACH statement ALOME is sufficient.

BOTH statements TOGETHER are MOT sufficient, and additional data is needed to answer the question.

Question 17



Find the length of the guadrilateral.
Statement 1.) The area of a quadrilateral is 4.

Statement 2.) All interior angles of a quadrilateral are right angles.

Possible Answers:

BOTH statements taken TOGETHER are sufficient to answer the guestion, but neither statement ALOME is sufficient.
Statement 1) ALOME is sufficient, but Statement 2) ALONE is not sufficient to answer the question.

BOTH statements TOGETHER are MOT sufficient, and additional data is needed to answer the question.
Statement 2) ALOME is sufficient, but Statement 1) ALOMNE is nat sufficient to answer the question.

EACH statement ALOME is sufficient.

Question 18
Drata sufficiency question- do not actually solve the question

Find the area of a square.
1. The length of one side of the square is 4.
2. The length of the diagonal of the square is 12.

Possible Answers:

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the question
Statement 2 alone is sufficient, but statement 1 alone is not sufficient to answer the question

Statement 1 alone is sufficient, but statement 2 alone is not sufficient to answer the question

Both statements taken together are sufficient to answer the question, but neither statement alone is sufficient

Each statement alone is sufficient

Question 19



Acircle is inscribed inside Square 50U S0 R, The circle intersects the square at points -1 /4. C and 1, Giye the area of the
sOuare,

Statement 1: The circle has area 144,

Statement 2: Arc AR has length .

Possible &nswers:

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the guestion, but MEITHER statement ALOME is sufficient to answer the guestion.
Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

EITHER statement ALOME is sufficient to answer the question.

Question 20

Acircle is inscribed inside Square S0 7 §QIT R, The circle intersects the square at points -1 /5, and 12, Give the area of the
sOuare,

Statement 1: The circle has circumference 1000,

Statement 2: AR isa 90° arc.

Possible &nswers:

EITHER statement ALOME is sufficient to answer the question.

BOTH statements TOGETHER are sufficient to answer the question, but NEITHER statement ALOME is sufficient to answer the question.
Statement 1 ALOME is sufficient to answer the question, but Statement 2 ALOME is MOT sufficient to answer the question.

BOTH statements TOGETHER are insufficient to answer the question.

Statement 2 ALOME is sufficient to answer the question, but Statement 1 ALOME is MOT sufficient to answer the question.



